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Introduction
• The Local Composite Index (LCI) dates to the 1970’s and 

purports to measure a locality’s ability-to-pay for K-12 
education.

• The LCI computes the locality’s relative state share of three 
revenue capacity indicators – true market value of real estate 
(TVRE - 50% weighting), Virginia Adjusted Gross Income  
(VAGI - 40%), and taxable sales (10%).

• The capacity indicators are then divided by a localities’ relative 
state share of school ADM (66.6%) and population (33.3%). 

• Finally, the calculation is multiplied by 0.45 to get the relative 
45% local/55% state weighted average share of SOQ costs.

• The result is the local composite index applied to the SOQ and 
other state education funding programs for local cost sharing 
purposes. 
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• There is an adjustment to the standard calculation for localities 
with non-resident income is above 3 percent of VAGI: in the 
2022-24 biennium LCI, 36 localities have their LCI adjusted by 
removing non-resident income from VAGI.

• Except for sales tax distributions and select other non-SOQ 
accounts (such as the recently adopted one-time $419 mil 
flexible funding support), the vast majority of state K-12 aid is 
distributed thru the LCI.  Therefore, nearly $7 billion in annual 
state aid to localities is currently influenced by the LCI.

Introduction (Continued)
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Average Daily Membership (ADM) Component =

Local True Values Local Adjusted Gross Income Local Taxable Retail Sales
Local ADM Local ADM Local ADM

.5 + .4 + .1

State True Values State Adjusted Gross Income State Taxable Retail Sales
State ADM State ADM State ADM

Population Component =

Local True Values Local Adjusted Gross Income Local Taxable Retail Sales
Local Population Local Population Local Population

.5 + .4 + .1

State True Values State Adjusted Gross Income State Taxable Retail Sales
State Population State Population State Population

Final Composite Index =

((.6667 x ADM Component) + (.3333 x Population Component)) x 0.45

COMPOSITE INDEX OF LOCAL ABILITY-TO-PAY FORMULA
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ADM has a relative importance considerably higher than other
indicators in the Composite Index --

relative weights on a scale of  0-10
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36 localities have a special 2022-24 biennium adjustment
due to non-resident income more than 3% of VAGI
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2022-24 LCI Examples
(Percent of State) 



Ten Year Change Example
(Percent of State)
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Ten Year Change Example
(Percent of State)
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A Localities’ LCI Does Not Always 
Correspond to its Fiscal Stress

• “Revenue effort” necessary for locality not captured in LCI.
– Education spending is about half of locality spending, not 

two-thirds as implied in the LCI.
• VAGI can be skewed with “bar bell” distribution of income. 

Median income rather than gross income might be a better 
measure.

• TVRE and VAGI influenced by cost-of-living.
• Localities with declining ADM have a relatively higher LCI.  

– JLARC recognized lack of economies of scale in smaller 
school divisions.

• Should local land use policy be reflected in the TVRE factor 
of the LCI?
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JLARC Recommendations for Improving
the Local Composite Index

1. Use 3-year moving average for data to smooth large changes.
2. Weight ADM and population equally in the denominator.
3. Replace the LCI with a Revenue Capacity Index. JLARC stated that “that the best measure 

of ability-to-pay available currently is revenue capacity.  

JLARC staff calculated the RCI using three main steps. 
a) Calculate statewide average yield rates for real and public service corporation (PSC) property taxes, 

tangible personal property (TPP) tax, and ‘other’ local taxes; 
b) Calculate the revenue capacity for each of the main sources and aggregate them to calculate total local 

revenue capacity; and 
c) Calculate the final RCI by comparing local revenue capacity to total statewide average revenue capacity, 

per pupil and per capita. 

The final result of the base revenue capacity calculation is a measure of how much revenue a locality could 
generate if it implemented the statewide average tax rate. For example, if the per pupil local-state revenue 
capacity ratio equals 1.05, then that locality has a revenue capacity approximately 5 percent greater than the 
statewide average per pupil. The RCI would find that, in per pupil terms, that locality could raise more 
revenues than the average locality statewide for education and should receive less state aid for public 
education. 
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